EAST POINT SCHOOL
CLASS-VII
ONLINE CLASSES WORK PLAN (JULY-WEEK-4)

ENGLISH
Unit-3 REAL LIFE HEROES
Section-1 The One Who Survived: Ada Blackjack

VIDEO LINK: https://www.youtube.com/watch?v=9F 2zpNxxY4

Learning Objective:-

1) The students will be able to understand the traits required to become a
hero in their personal lives.

2) They will be able to understand the meaning of difficult words and will
learn sentence construction.

Explanation of the Chapter:

Setting — Somewhere in the Arctic region, where Ada was born and brought up,
and Wrangel Island where she went with the explorers.

Main character — Ada Blackjack

Supporting characters - Lorne Knight, Milton Galle, Fred Maurer, Allan
Crawford, Vilhjalnmer Stefansson, Ada’s grandmother and Ada’s son Bennet

SUMMARY

e Ada was born in the year 1898. Curiously, she avoided going out to play
with other children preferring to stay indoors to do household chores to help
her grandma.

e Ada had married, and become a mother, but sadly had lost two of her babies.
The five-year-old Bennett lay in bed, suffering from TUBERCULOSIS.

e At this point of time, entered Stefansson, the leader of the expedition. He
made a proposal to Ada. He would make arrangements for Bennett’s
comprehensive medical care if she joins the expedition.


https://www.youtube.com/watch?v=9F_2zpNxxY4

e On 21st September, the group set out for Wrangel Island. Initially, the other
members of the group felt Ada was too frail to survive the cold hazardous
journey, but Ada showed remarkable determination.

e Lorne’s condition deteriorated fast. Leaving him to the care of Ada, the three
other crew members left the camp for their onward journey.

e She managed to kill a few animals, and could deal with starvation but Lorne
passed away, leaving Ada heart-broken, and alone

e On August 23, 1923, a merchant ship named Donaldson laid anchor in the
shore. The sailors took good care of Ada, by then half-starved and battered
by the cold.

e Ada narrated her learning experience — how she studied maps, and how she
hunted foxes with the help of traps. Her story became an inspiring story of
struggle and survival.

Crisis in the story — Lorne Knight falls sick and they get no news of any help.
Their food supply had depleted and they were almost starving as winter set in.
Leaving Ada with Lorne, the three other explorers went out in search of help never
to return. Lorne dies and Ada is left all alone to survive the Arctic.

Resolution of the crisis — Ada learns how to hunt animals using a rifle. She kills
animals and birds like ducks, foxes and seals. She survives the island and comes
back to her family finally.

WORKSHEET
I. Answer the following questions:

Why did Ada agree to join the expedition?

Why did Lorne knight not traverse the icy sea with other explorers?
Write down the character sketch of “Ada Blackjack”.

What happened to son of Ada Blackjack?

How was Ada Blackjack rescued in the end from the isolated island?

SARENE A



ACTIVITY:- Complete the graphic organiser given below:

SETTING OF THE

STORY
RESOLUTION OF
THE STORY MAIN CHARACTER
CRISES IN THE SUPPORTING
STORY CHARACTERS

ROLE PLAY ACTIVITY: The students will enact full story by taking up the
roles of the characters of the story.
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CHAPTER- DATA HANDLING
(NOTES AND WORKSHEET )

VIDEO LINK: https://www.youtube.com/watch?v=4Hkz7Fc5zTM

LEARNING OBJECTIVES

1. Students will be able to formulate the data in tabular form.

2. They will be able to find out the mean, mode of the given data

3. They will be able to represent the data either in ascending order or descending
order to find out the median.

We need to collect, organize and represent that data to draw inferences from it.
This is called Data Handling.

Collecting Data

Collection of data depends upon the further requirement of the data. Before
collecting any data we must know that what will be the use of data.

If we have to compare the marks of the toppers in different classes then we need
the data of all the classes not only one class having any topper.


https://www.youtube.com/watch?v=4Hkz7Fc5zTM

Organization of Data

Before using any data, first, we need to organize it in a systematic manner so that it
could be understood easily. Generally, data is organized in tabular form as it is
easy to read and understand

Marks Number of Students = Frequency Tally Marks
1 1 |
2 4 |11
3 2 |
4 5 M4
5 7 M 1]
6 4 |11
7 4 111
8 6 M
9 1 |
10 1 |

Total 35

In this tabular form, we can easily understand that how many students get how
much mark.

Representative VValues

There must be a particular value which represents the complete data. This is the
average of the data. The average lies between the smallest and the largest number
of data so it is called Central tendency of the group of data.

There are three types of central tendency of data-

1. Arithmetic Mean

The mean is the average of the number of observations. To calculate mean we have
to divide the sum of the values of the observations by the total number of
observations.



Example

The score of 8 students in science is given. Find the average score of the students.
25, 28, 23, 24, 29, 35, 42, 48

Solution

sum of observations
AM. =

number of observations

25+ 28+ 23 +24+29+35+42+48
8

g/

]
= =31.75
8

Remark: This is not necessary that the value of mean will be from one of the
observations.

Range

Arithmetic mean lies between the smallest and the largest observation. A range is a
difference between the largest and the smallest observation.

Range = Largest Observation — Smallest Observation
Example

If the age of the students in a class is given then what will be the range of the given
students?



AGES OF STUDENTS
13,13,14,14,14,15,15,15,15,16,16,16

Range = highes+ - lowest
=16 -13
Range = 3

2. Mode

Mode tells us the number of observation which occurs more frequently. The
observation which occurs most of the time is called the Mode of that group.

Example

If we have the observation of average temperature in New Delhi for 12 months
then find the month in which it has the maximum average temperature? What is the
mode of the given observation?

Month Average Temperature
January 18
February 22
March 24
April 25
May 25

June 29



July
August
September
October
November
December

Solution

27
27
27
25
21

19

As you can see that the maximum average temperature is in the month of June.

Its mode will be 27 as it occurs more frequently i.e. three times.

Mode of a Large Number of Observations

If the number of observations is very large then we can convert the data in the
tabular form using frequencies and tally marks. Then it will be easy to find the

mode of the given data.

Example

Find the mode of the data of scores obtained by students of class 7 in Sanskrit

given below.
Score
2

4

11

13

Number of Students
4
2



15 6

18 8
Solution
The mode is the 18 as the maximum number of students i.e. 8 students score 18.
3. Median

The middle value of the given number of the observations which divides it into
exactly two parts is called Median.

To find the median, we have to arrange the data in ascending or descending
order then find the middle value of the given number of observations that is
the median of that group.

a. If the number of observation is odd

. n+ 1% _
Median = (T) observation

b. If the number of observation is even

n th

Median = %{(E)th observations G + 1)

observatio 1’1}

Example
1,3,3,6, 7, 8,9
Median = 6

1,2,3,4,5, 6, 8,9
Median = (4 + 5) =2
= 4.5



Kindly go through the below link to solve the worksheet
https://www.bing.com/videos/search?g=Data+Handling+Class+7& &view=det
ail&mid=6A11785A7D6FBAA554326A11785A7TD6FBAA5S5432& & FORM=V
RDGAR&ru=%2Fvideos%2Fsearch%3Fg%3DData%2BHandling%2BClass
%2B7%26FORM%3DRESTAB

WORKSHEET

QL.f the averages of the given data 6, 10, 12, x, 16 is 14, find the value of x.
Q2. Find the mean of the first 5 multiples of 3.

Q3. The marks obtained (out of 10) by 80 students in a class test are given below:

Marks

obtained |1|2|3|4|5|6|7|8|9]10
Number of

students | 3 |5 | 8|10| 9|15/20/16/12/ 2

Find the mode of the above data.

Q4. The data given below shows the production of motorbikes in a factory for
some months of two consecutive years.

Months 2008 2007
February 2700 2800
B May 3200 4500
August 6000 4300
October 5000 4800
December 4200 5200

Study the table given above and the answer the following questions:

(@)In which year was the total output maximum?

(b) Find the mean production for the year 2007.

(c) For which month was the difference between the production for the two years
Is the maximum?


https://www.bing.com/videos/search?q=Data+Handling+Class+7&&view=detail&mid=6A11785A7D6FBAA554326A11785A7D6FBAA55432&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DData%2BHandling%2BClass%2B7%26FORM%3DRESTAB
https://www.bing.com/videos/search?q=Data+Handling+Class+7&&view=detail&mid=6A11785A7D6FBAA554326A11785A7D6FBAA55432&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DData%2BHandling%2BClass%2B7%26FORM%3DRESTAB
https://www.bing.com/videos/search?q=Data+Handling+Class+7&&view=detail&mid=6A11785A7D6FBAA554326A11785A7D6FBAA55432&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DData%2BHandling%2BClass%2B7%26FORM%3DRESTAB
https://www.bing.com/videos/search?q=Data+Handling+Class+7&&view=detail&mid=6A11785A7D6FBAA554326A11785A7D6FBAA55432&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DData%2BHandling%2BClass%2B7%26FORM%3DRESTAB

(d) In which month for the year 2008, the production was the maximum?
(e) In which month for the year 2007, the production was the least?

Q5. Find the mode of the following data:
24, 26, 23, 26, 22, 25, 26, 28

Q6. Find the median of the following data:
20, 14, 6, 25, 18, 13, 19, 10, 9, 12

Q7. The mean of 5 numbers is 25. If the four numbers 16, 26, 31, 32. Find the fifth
numbers.

Q8.Given below are the heights of 15 boys of a class measured in cm:
128,144,146,143,136,142,138,129,140,152,144,140,150,142,154
Find

(a) The height of the tallest boy
(b) The height of the Shortest boy
(c) The range of the given data.
(d) The median height of the boys

Q9.Find the median of the data if the mean is 4.5
5,7,7,8, X,5,4,3, 1,2
Q10.Calculate the mean,median and mode of the following data:
5,10,10,12,13
Are these three equal ?
ACTIVITY
AIM: To collect data on number of members in different families
PROCEDURE:

e Ask 20 of your classmates one by one about the number of members in their
families



e For every answer put a tally marks in the correct column.

NUMBER OF TALLY MARKS NUMBER OF
MEMBERS STUDENTS

e Add the tally bars in each row and write the total in the number of students

column
e Then convert it into the bar graph.
OBSERVATION: 1.The tallest bar is for ....................... members

2. The shortest baris for..................... members.

CONCLUSION: Bar graphs can be drawn to represent the data pictorially

SCIENCE

NUTRITION IN ANIMALS
VIDEO LINK:- https://www.youtube.com/watch?v=bFczvJpObpU
Learning Outcome- 1) Students will understand how digestion is started in human
body and proceed further .
2) They will come to know about the secretion and importance of digestive juices
through different organs involve in digestion.

Steps involved in digestion

1)The food that we eat passes through a Canal inside our body.

2)The food is processed and utilized in the body and unused food is collected
inside the canal only.

3)This Canal is often called as the Alimentary Canal or the Digestive Tract.
4)The canal is divided into different parts:

The Mouth or Buccal Cavity ,Food Pipe or Oesophagus, Stomach, Small Intestine
,Large Intestine, Anus


https://www.youtube.com/watch?v=bFczvJp0bpU

There are three glands associated with the alimentary canal that secrete digestive
juices that are used to convert the complex food substances into simpler

substances.
liver

pancreas
salivary glands

The Digestive System - The alimentary canal and the digestive glands together
form a system in the human body which is responsible for the digestion of food in
the body. This system is called the Digestive System.

ACTIVITY — ROLE PLAY

Students will play the role of different organs and digestive juices, involved in the

process of digestion.

LIST OF DIGESTIVE JUICES
Digestive juices and enzymes
Saliva
Amylase
Gastric juice
Protease (pepsin) and hydrochloric acid
Pancreatic juice
Proteases (trypsin)

Lipases

Amylase

Intestinal enzymes
Peptidases

Sucrase

Lactase

Maltase

Bile from the liver

Substance digested
Starch

Proteins

Proteins

Fats emulsified by bile

Starch

Peptides

Sucrose (sugar)
Lactose (milk sugar)
Maltose

Fats globules

[
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Product formed
Maltose

Partly digested proteins

Peptides and amino acids
Fatty acids and glycerol
Maltose

Amino acids

Glucose and fructose
Glucose and galactose
Glucose

Fat droplets




Bile salts

THINK AND ANSWER-

1) Name the organs involved in these steps of digestion process in humans.

a) Taking of food b) secreting bile juice c¢) assimilation of food

2) Why it is important to get saliva mixed in food in mouth?

3) What will happen if gallbladder stops secreting bile juice?

4) How nutrients get assimilate in our blood?

5) Label the diagram

6) Complete the paragraph based on your activity performed.
| am . My role in process of digestion is to :
| come into action in step of digestion. If | miss my action ,
Consequences will be

SOCIAL STUDIES

The Delhi Sultans

Learning Objective: Students will learn about the political, social and economic life
during Delhi Sultanate.

Video Link: https://www.youtube.com/watch?v=nmgDUjoB y0

« Delhi initially turned into the capital of a kingdom under the Tomara Rajputs, who
were vanquished by Chuahans (additionally called Chahamanas) of Ajmer.

« The change of Delhi into a capital that controlled immense range of the subcontinent

« Dbegan with the establishment of the Delhi Sultanate in the start of the thirteenth
century.

SOURCES:

Inscriptions coins and engineering give a great deal of data.

Further important sources are 'histories’, tarikh (particular)/tawarikh (plural), written
in Persian, the dialect of organization under the Delhi Sultans.

The creators of tawarikh were scholarly men; secretaries’ overseers, writers and
subjects who both described occasions and prompted rulers on administration,
stressing the significance of simply run the show.

From Garrison Town to Empire:



https://www.youtube.com/watch?v=nmgDUjoB_y0

Vi.

Vii.

viii.

In the mid thirteenth century the control of the Delhi Sultans once in a while went
past vigorously strengthened towns involved by battalions.

Delhi's power was tested by Mongols and by governors who revolted at any
indication of the Sultan's shortcoming.

The extension of Delhi Sultanate occurred under the rule of Balban, Alaudding Khalji
and Muhammad Tughlag.

Organization and Consolidation:

To have solid governors the early Delhi Sultans, particularly 'ltutmish' favored their
uncommon slaves bought for military administration called '‘bandagan' in Persian.

The Khaljis and Tughlugs kept on utilizing bandagan and furthermore raised
individuals of humble birth, who were their customers, to high positions like
governors and commanders.

The Khaljis and Tughlugs delegated military leaders as governors of domains of
fluctuating sizes.

These grounds were called igta and their holder was called muqti or igtadar. The
obligation of muqtis was to lead military crusades and keep up lawfulness in their
igtas.

consequently, muqtis gathered the incomes of their assignments as pay. They
additionally paid their paid their troopers from this income.

Under Alaudding Khalji and Muhammad Tughlug bookkeepers were named to check
the sum gathered by the muqtis.

As Delhi Sultans brought the hinterland of the urban communities under their control,
they constrained the samants and the rich proprietors to acknowledge their power.
The assault of Mongols under Genghis Khan constrained Khaljis and Tughlugs to
assemble an expansive standing armed force in Delhi.

The Sultanate in Fifteenth and Sixteenth Centuries:

The Tughlug, the Sayyid and Lodi lines ruled from Delhi and Agra until 1526.

By then Jaunpur, Bengal, Malwa, Gujarat, Rajasthan and the whole South India had
Independent rulers who had set up thriving states and prosperous capitals.

New managing administrations like the Afghans and Rajputs additionally emerged
amid the period.



In 1526, Mughals set up their realm; however, for a short period Suri Dynasty led in
Delhi (1540-1555). This organization turned into the good example for Akbar, the
Mughal Emperor.

WORKSHEET

Very Short Answer Questions (1 Mark each)
1. Who defeated the Tomara Rajputs and when?

2. Define qibla.

3. Which ruler first established his or her capital at Delhi?

4. What was the language of administration under the Delhi Sultans?

5. In whose reign did the Sultanate reach its farthest extent?

6. From which country did Ibn Battuta travel to India?

Short Answer Questions (3 Marks
each)

1. Name the five dynasties that together made the Delhi Sultanate.

2. Mention the sources that provide a lot of information about the Delhi Sultans.
3. Name the three types of taxes collected during the Sultanate period.

4. What is meant by the “internal” and “external” frontiers of the Sultanate?

Long Answer Question (5 Marks each)

1. What was the impact of the Mongol invasions on the Delhi Sultanate?

2. Describe the administrative measures taken by Ala-ud-din Khalji.

3. ‘Muhammad Tughluq’s administrative measures were a failure’. Explain with
examples.

Fill in the blanks
1. Delhi first became the capital of a kingdom under the

2. Coins minted in Delhi called had wide circulation.
3. Sultan Is Known for introducing market control mechanism.

Objective type Questions
1. What is fortified settlement of soldiers is known as?
a. Hinterland



. Garrison town
. The Masjid
. None of these

. Under whose leadership Mongols invaded the Delhi Sultanate?
Akbar

. Alauddin Khalji

. Genghiz Khan

. None of these

. What is the direction that the Muslims face during prayer?
. Khutba

. Ulema

. Kharaj

. Qibla

. Who introduced token currency?
. Muhammad-bin-Tughlug

. Alauddin Khalji

. Raziyya

. Khizr Khan

. Kharaj was a type of tax imposed on what?
. Houses

. Trade

. Cattle

d. Cultivation
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Activity

Make a booklet on any two Monuments built by Delhi Sultans with pictures.
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Link- https://youtu.be/ThfzBgOhDY
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https://youtu.be/ThfzBgOhDY
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